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Answer Key ¢ Lesson 4: Measuring Volume

Student Activity Book

Name Date

Measuring Volume (SAB pp. 567-572) Measuring Volume

|.* See Figure 2 in Lesson 4 for a sample drawing. :

1. Draw a picture of the lab set up.

2.* See Figure 3 in Lesson 4 for a sample Data
Table.

3.* See Figure 4 in Lesson 4 for a sample graph.
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*Answers and/or discussion are included in the lesson.
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Answer Key ¢ Lesson 4: Measuring Volume

4—7. Answers will depend on the data.
Name Date 8. A. >

Ex p\.ﬁs)\ B. >

Work together to answer the following questions.

4. Which set of objects has the most volume? What is its volume? D. <

9. A.*55 cc; Possible responses: 105 — 50 = 55;
I know 50 + 50 = 100 and 5 more is 105,

5. Which set of objects has the least volume? What is its volume? SO 50 + 55 =55

B. 29 cc; Possible response: I counted back by
o , o tens 96, 86, 76, 66, then added one back to
6. What is the difference in volume between the two sets of objects in
Questions 4 and 5? Show how you found your answer. 67, SO that’s 30 — 1 = 29

10.* Possible response: The water will overflow.
20 + 20 + 20 = 60 cc and
60 + 50 = 110 cc, which is more than the
100 cc the cylinder can hold.

I 1.* Responses will vary. See Figure 6 in the
Lesson for a sample data table.

7. What is the sum of the volumes of the two sets of objects in
Questions 4 and 5? Show how you found your answer.
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9. A. A graduated cylinder was filled with water to the 50 cc mark. S0 9 = e % S
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B. Carla put a toy car into a graduated cylinder. The water was =a 5 % =X £
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_ the graduated cylinder was 67 cc. What is the volume of the 59 5 s @ =3 i g E 8
g toy car? Show or tell how you know. 5 285 ] > <31> °ev
8 Hogoo 3 o8 2
g as D38 c 3
H 2oL 3
5 x50 g
H 9 =5 5
g S 3
z 3% 32 < 3
El 1 Qo S
3 < % o 8 € g
e 10. A 100 cc graduated cylinder is filled with water to the z= s 2 C3D g
£ 50 cc mark. Three rocks were put into the cylinder. The volume = é g % o H
8 of each rock is 20 cc. What will happen? Why? ] 7 A
Qo el
g 5
2
=
Measuring Volume SAB - Grade 2+ UnitTl-Lesson4 571 572 sAB-Grade2- Unit1l- Lesson 4 Measuring Volume

Student Activity Book - Page 571 Student Activity Book - Page 572
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